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8.

10.

A particle of mass 1 mg has the same
wavelength as an electron moving with a
velocity of 3 x 10€ ms™ . The velocity of

the particle is
(Mass of electron= 9.1 x 1073* kg)

(A) 27 x 1071 8ms™?
8) 9 x 107 ?ms™?
{€© 3 x 1073 ms™*

D) 27 x 107%tms™?

Calculate the energy in joule corresponding
to light of wavelength 45 nm : (Planck’s
constant h = 6.63 x 103% Js; speed of
light ¢ =3 x 10%°ms™)

(A) 6.67 x 105 (8) 442x1071®

{0 442x1071 (B} 1

6.67 x 10

In measurement of radius of a sphere,
percentage error is 1%. What will be error in

8.

1 mg S & T& S B IR B
T 3 x 10%24 @ 9T F A

PRI T TAEE F gUEY © | B Bl

(Selagl B FEEN =

9.1 X 1073 kg)
W 27 x 10718482,

B 9 x 107%#/3
© 3x 1044

D) 27 x 1072 &z

THTY e e 45 nm €, B ool

S 1 S 1 S I

h =663 X 10 3 gw2,

searime =3 X 10%42.)

B) 667 x10%5 (B) 442 x10718
©  442x107* Bl 667 x 10

TE Tl Bt Bear & Ao q akea 3
1% Bt & | 399 Igad # Fe erf

volume of sphere ? (A) 39 (B) 5%
(A) 3% (B) 5% © 7% (D) 1o
(C) 7% (D) 1%
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1. A planet moving along an elliptical orbit is
closest to the sun at a distance r, and

farthest away at a distance of r,.If v, and

v, are the linear velocities at these points

v
respectively, then the ratio of —is

V2

() T2 (8) /1532
Ty (1"1)

© 1 (D) /riy?
rz (:;)

12. A p-n photodiode is made of a material with
a band gap of 2.0 eV. The minimum
frequency of the radiation that can be
absorbed by the material is nearly

(A) 5 x 10" Hz (B 20 X 10**Hz

{© 10 x 10**Hz ® 1 x 10 Hz

13. The root mean square velocity of a gas is
doubled when the absolute temperature is
{A) increased four times

1. W b IRl AR [P TE Y qATHR e
A frael @@ @ i @ o e

AfemdE g o, & YE e B | AR
$ Rgel ® WY A BEE oy, @
v, & @ % HT I &
(A 2 (8) (:’2)2
Iy
(€ It (D) (rl)i‘
T2 r,
2 Th p - n BCEAS 20 eV 4U8

R F uSrd W g9 & | 39 uerd
R JgeiiT R #t <gFew snghy
STHT BRf

(A) leolé@ﬁﬁ

B 20 x 10 T
© 10 x 101 &
®) 1 x 1014 T
B & N ow o ga AEm 3T (rms)

AT B, S99 N BT 9RE A9Er
(A} IR AT g |

{B) increased two times (B) =T T g7 |
(©) reduced to half (@ 3mm fear s |
(D) reduced to one fourth (0) T =g B
Page: 5 560132
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14. The IUPAC name of “ = @1 g el AW g
CH; —CH-CH=C-CHO CH; —CH-CH=C-CHO
! I is 1 |
OH CH; OH CH,
{A) 4 - hydroxy - 1 - methylpentanal (A} 4 - ms;ﬁ'cﬁﬁ - 1 - AR Y=
(8) 2 - hydroxy - 3 - methylpent-2-en-5- (B) 2 - grsgIEdl - 3 - AT U - 2 -
al -5 - ol
(©) 4 - hydroxy - 2 - methylpent-2-en-1-| (€} 4 - TSN - 2 - 3A I - 2 -
al -1 - 3
(D) 2 - hydroxy - 4 - methylpent-3-en-5- D) 2 - 313@3-‘@{ -4 -URAT Y= - 3 -
al ' 1 -5 - I
15. Geometry of BE, is £15- BE, @I SOIFRI WRET 81
(A) tetrahedral (B) pentagonal t (A) FIHADIT (B) doyiy
(€) trihedral (D) trigonal planar © Breasd

| 16. Two thin lenses of focal length 'f;"and 'f,"|16. /¢ 7 qar ¢’ ®ipw gRAT & a1 qaa
i are in contact and co-axial. The power of the O 8 TY ¥ VR BY £ | 39 I

combination is P TR (IER) BEN
a B - A) (8)
| i i Yk 0
‘| \‘I fl 3 f2 _\! fl ,'J fz
{C} (fl + fz) [D) f1 + f2 [C] (fl -+ fz) {D} f]_ Sl f-2
fl s fz 2 fl m f2 2
! 17. Acidity of phenol is due to 17. fpeler H aFeTal Bl &
(A} hydrogen bonding (B) phenolic group L (A) BEEINH 9" $ BN
: (€) benzene ring (8) fpater qq H HROT
' (D) resonance stabilization of its anion € =09 7 & &R
" D) 3OF gAFT & AR Redidwo &
DR
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18

19,

The wave described by yv = 0.25 sin
(10 mx — 2mt), wherex and y are in

metre and t in second, is a wave travelling
along the
(A} +ve x direction with frequency 1t Hz and

wavelength A=0.2m
(8) -ve x direction with frequency 1 Hz

{€) +ve x direction with frequency 1 Hz and
wavelength2=0.2 m

(D) -ve x direction with amplitude 0.25 m|-

and wavelength 1 =0.2 m

In an uniform electric field one oil drop of | 1a.

0.002 miligram mass and 6 electronic charge
is stable in air. What will be intensity of
eiectric fieid ?

(A) 2.04 x 101 N/C

(B) 2.04 x 10® N/C

@ 2.04 x 10°N/C

(D) None of these

e T B G ®

Sy = 025 sin
(10mx — 2mt), T x T y dex §

TN T t W " T | ¥E N R oW
W®W g
W gITHF o fomm #, Ry o gest @

B TS 5 fwm F For SmgRy 1 west

€ ereTd o fwm ¥, emafy 1 west @
TR ) = 0.2

©) s o, feem ¥ amm 0.25 #
T T ) = g2 4L

0.002 B T&@E  aell a1 6
TN $ AR A I TP 9T B &S
THEA dgd & § ReR eed § |
W 204 x 10°N/C

B 204 x 108 N/C
© 204 x 10°N/C
0) 399 | BIS 7

- M

20. Complete the following reaction : 0. 9= It o FIf
P, +NaOH +H,0 — ? P, +NaOH +H,0 —» ?
(A) PHg + Naszoz (A) PHg + NQQHPOQ
8) PH, + NaH,PO, (8  PH, + NaH,PO,
(© H;PO, + NaO (0) PH, + Na,PO, (@  H,PO, + NaO
()  PH, + Na,PO,
2. Volume of H, gas occupied by its one gm 2. grggoH N & "Ne 99 T W TH
equivalent at STP is I TS BT JRTT BT
(A) 11.2 litre (8) 22.4 litre W 12 8 22.4 =i
(© 1.0litre (0) 5.6 litre | @ 10l (P) 5.6 .
Page: 7 560132



SECTION -1 s - ]

P H R ; Hifies s & ~ar= g
1. For the valence electron in copper, the four |1 & (Cu) & WOoT® Soaeq @ R
quantum numbers are FTeq T B
(A) 1 (A) i
n=4Ii=-1m=0s= — n=4l=-1m=0,s=—
2 2
(B) 1 (8) 1
n=4i=0m=+2,s= — n=4Il=0m=42,s= —
2 2
(C) 1 () i
n=4i=1m=4+2s= — n=4l=1im=42,s= —
2 2
(D) 1 (D) . 1
n=4,l={},m={},s=; n=4i=0m=0s=—

2 Which of the following statements is correct |2 i/ § & &9 W @a9 et g

for the spontaneous absorption of a gas ? & qd: JTITT BT YERT HRaT & 2
(A) AS is negative and therefore, AH should (A) A5 =UTH® T ST AH IR
be highly positive. gTHS BRI |

{B) ASis negative and therefore, AH should (B) A5 HUTHFG & o AH IS
be highly negative. FOTHE BN |

(€ ASis positive and therefore, AH should © A 6T § ST Al EAIEE BN
|

©) AS OIHS § FF Al FOTHB BFT
|

3 Aboy standing at the top of a tower of 20 m |3 T osaT = 20 Al S 4R 9

be positive.
(D) ASis positive and therefore, AH should

be negative.

height drops a stone. Assuming Th TR FREr & | TEAT RO BT
g = 10m/s?, the velocity with which it hits iG] g=10 @J—@_—LZ T | TER T W®
the ground is &9 9 I THE 2

(M 20 m/s ) 4Dvals (&) 20 AR, ) 40 #RY.

(©) 10 m/s (®) 5 m/s © 10 #.AQ, 0 5 .4,

Page:2




4. The circuit is equivalent to

AW
Y
B

NOR NAND  NOT
(A) OR gate (8) NAND gate
{€) NOR gate (D) AND gate

5. The half life period of a first order process is
1.6 min. It will be 90% complete in

{A) 43.3 min (8) 99.7 min
{C) 5.3 min (D) 10.6 min
6. Of the following outer electronic

configurations of atoms, the highest
oxidation state is achieved by which one of
them ?

(A) (n- 1)d%ns?t

© (n- 1)d3 ns?

8) (n- 1)d> ns?

) (n- 1)d® ns?

7. At 10 °C the value of density of a fixed

mass of an ideal gas divided by its pressure

- gR9Y WEged BN

3 T
B

NOR NAND NOT
(A} OR gate (B) NAND gate

[© NOR gate (B} AND gate

g i & Affear &1 ol Siawsrd
1.6 e 2 | e W § I8 90% O

B 2

(A) 43.3 e (8) 99.7 fme

© 53 fiFe (D) 10.6 fi=e

o 4 B W A segee A
qTel WA GRT Seaad ATRITGROT Jgwe
U B A ?

(A)  (n- 1)d5nst
(8) (n- 1)d%, ns?
@ (n- 1)d3 ns?
©  (n- 1)d® ns?

10°¢ ® f5R 3 ™ & B
f¥eq so9m & w99 99 <9 @l

is xAt 110 octhis ratio is SF_{CHH % 'g' | 110 °C W I8 mﬂql—d-
() 10 (B)

— % x BRI

110 () 10 B x
© 283 () 383 110~

——— —

383 283 © 283 - (o 383

383 283 "
Page: 3 560132




22

24,

25.

28.

. A mass of diatomic gas

(y=14) at a

pressure 2 atm is compressed adiabatically
so that its temperature rise from 27 °Cto

927 °C. The pressure of the gas in final state
(A) 68.7 atm (8) 28 atm
() 8 atm (D) 256 atm

The vacant space in bec lattice cell is
{A) 23% (B) 32%
(©) 26% (D) 48%

The rate equation for a reaction A — Bis
r = K[A]> If the initial concentration of ‘A’
is‘a” mol dm™3, the half-life period of the

reaction is

(A) (8)

€ (D)

F!H,:’ ';‘élm
olE Rl

A silver cup is plated with silver by passing
965 coulomb of electricity. The amount of
Ag deposited is
(A) 1.08g

(c) 107.89g

(8) 1.0002 g
(D) 9.89g

Two nuclei have their mass numbers in the

22.

23.

24,

o T (y=14) & @

A P SE UHH W 2 atm b
zqrg I Gefifed fear Sar 8, 99 ST

A9 95HT  27°C W 927°C T W
2| ofaw Rafy § i1 &1 39 BrN

(A) 68.7 atm (B) 28 atm

(© 8 atm (D) 256 atm

bee wTad da ¥ R w9 €@l &

(A) 23% (B) 32%

(€ 26% (D) 48%

iy afifear A B & ford siffifeear

I A BT URRIS WEU @ A
S B O eI @ EICE|

Bl BT -

w2 | 2
2K K

(© 2a o K
K a

7F Rie® $9 R R @@) & =
T ¥ oY 965 Fair I faga vaied
N S £ 1 = @ feaer A= S
Brfl 2

(A) 1.08 UMH

(€ 107.89 UM

(8) 10002 W
(D) 9.89 UM

G R CIC I e Gk 3%

ratio of 1 : 3. The ratio of their nuclei| gaFue # & | 9o TS TIG F
densities would be AT B
€ 1: 3 by 1: 1 () 13 3 (D) i:13

Page: 8




27.

28.

29,

The number of carbon atoms per unit cell of
diamond is

(A) 8 (8) 6

i€ 4 (b} 1

Which of the following is diamagnetic ?
(A) H, (B) HI

© H (D) He;

A bomb of 25 kg mass moving with 10 m/s | :

velocity. Bomb explodes and divide into two
pieces of 15 kg and 10 kg. If big piece
becomes at rest then what will be the
velocity of small piece ?

(A} 20 m/sec (8) 25 m/sec

{€) 15 m/sec (D) 10 m/sec
The ground state energy of hydrogen atom

is-13.6 eV. When its electron is in the first
excited state, its excitation energy is

7 ¥R (Diamond) ¥ WY Ifre Ve § Brdy
URATYE @ U e

(A) g (B) g
€l 4 (B} 1

2 7 4 R P Rvrdediy € o
(A)  H, O
(C) H; (D) Hef

2. 25 531 &1 & a9 B TWer ST 5 10
ﬁ./ﬁ.@vﬁrmmﬁ,wa‘rgw
i e 9 & | wet B ogaEe 15
fear iR 10 5w & I I3 IS
P I LI & A B gHS B a7 8w
(A) 20 A~ (B) 25 HAY.
© 15 H.4 (d) 10 %/

su,a@mqmﬂ?ﬁmwfﬁmf
-136 eV ¥ | V9 THPT soeEH T

WINK sravel § 8RO see soe

(A} 10.2 eV (8) 6.8 eV o=
{€) 3.4eV (D) zero (A) 10.2 eV (B) 6.8 eV
(© 3.4 ev ®) =
31 The oxidation state of Fein Fe, O, is 3 Fe,0, 9 Fer @) difrfiowor aqer &
(A) +3 (B) +2 (A)  +3 B) 12
(c) § (0 16 () 8 (D) +6
3 3
%= The pH of 1071 M NaOH solution is| 32 107y NaOH fadua o1 pH @9
nearest to ST BT
(A) 4 (8 —g (A) 4 (B) —4
© —10 o) 7 © —10 o) 7
Page: 9
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33 T i 43, -
3. The reaction 3: s CH,CN + 4H Na/C;HsO0H

CH,ON+4H  Na/CHs0H .
CH,CH,NH, el §

CH,CH, NH, is known as ) e o

A ! i i
(A) Hoffmann’s bromamide reaction )
g ) 3 Afrew aififeean
{B) Mendius reaction ©
y n , 5 ) ” ERECILIER]
(¢} Parkin’s reaction (D) Sabatier reaction ©) R A
a4, Which of the following is a measurement of | 34. g & X oA W1 W gggol $I =94l
water pollution ? 2
{A) COD (8) BOD (A} COD (8 BOD
(© PSC (D) PCB © PpSC (D) PCB

a5 The voltage gain of an amplifier with 9% 3. 9% FUITH® Y BN R U@ aHS
negative feedback is 10. The voltage gain| &I areedr o™ 10 B | R e

without feedback will be ¥ drecdl ot B
{A) 100 (8) 10 (A) 100 (8) 10
{0) 1.25 (D) 90 (© 125 (D) 90

%. A nucleus I:‘:}{er’nits one « — particle and %B. U EIEED T::g T o — =z oA

two B~ particles. The resulting nucleus is | a 8~ = SR BT & | SO &

after emission qTgE AN G arl
W m—6 ® m—4 W m—6 (8) —4
X X S =
fioen o3 el a2
i (0 m-— 6X (D) m-— 4X () m— 6}{ (o) m-— 4}{
= n n n n
a7. If the equilibrium constant for 7. Ay Npg + Osggy = 2N0gy T
Noros + Oorr 2 2NOy, is k, then the o ol ’
29 T V209 &) qreraRen Reris k &, 99
equilibrium constant for
3 e |
ENotey += Oy = ill b 1 1 BT ATRITaRIT
=Ny 5 Qlaggy = Mgy Wil e SN +5 020 = N0
w 1 8 ,= .
Ek k2 Reri@m &
(A) 1}; ® 3
0 k2 () k 2 i
© k2 ) k

Page: 10




38. The first excitation potential of sodium is 2.1

38.

40.

volt. The maximum wavelength of emitted
light will be

(A) None of these  (B) 4720 A

(© 4932 A () 5893 A

A thin rod of length L and mass M is bent at
its midpoint into two halves so that the
angle between them is 90°. The moment of

inertia of the bent rod about an axis passing
through  the bending point and
perpendicular to the plane defined by the
two halves of the rod is

(A) M12 B 2
— — MI2
12 24

© M12 (D) Mi2
24 6

The energy required to charge a parallel
plate condenser of plate separation d and
plate area of cross-section ‘A’ such that the
uniform electric field between the plate is E,
is

(a) 1 (B) 1
— € E? Ad EEOEQ
2
Ad
@ Eg EZAd (D) EDE2
Ad

348,

Th TRl B, el JaWrE L aer
SAM M B, B 39% T g 9 90
W A9 T ¥ | 39 g€ g ve & A

g ¥ o el @@ 1S g v %
T 9T @ GHad 35 T B

(A) Mi} B 2
e = MI2

© M2 o) MI?
24 6

Th TR 922 9UIRT @ wiEl ¥ i
B g d IR wiel BT gy IR
g6 A T | T IWRE R wiel ¥
g BT 3R fas@ &1 E @ & | 39

AR H & o saw®s el BRf -
(A) 1 (B) 1

> € E? Ad =g E*
Ad
© g, B2Ad 0 g,E?
Ad

560132
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e e

Curie temperatures is the temperature 4t fcﬁ‘{ﬂ o 98 did Bl ©, Ry TR

41,

42.

43.

44.

above which
{A)  Paramagnetic material
ferromagnetic material

becomes

(8)  Ferromagnetic material
paramagnetic material

()  Paramagnetic material  becomes

diamagnetic material

{p)  Ferromagnetic

material  becomes ]]
diamagnetic material 1

An aeroplane is moving with 80 km/hr |42

speed in North-West direction, while air is
blowing at 60 km/hr in North-East direction.
What is the actual velocity of plane ?
{A) 140 km/hr (8) 100 km/hr

(€) 20 km/hr (D) 40 km/hr

In figure, ‘B’ is earthed and ‘A’ is kept at |43

1500 volt. What is potential at ‘P’ ?
SuE SuF

l

——j}—l : = B \
35 uF Ly— 1
2uF 2uF "

1_

{8) 750 volt
(D} 700 volt

(A) 7000 volt
(€} 7500 volt

What is the maximum numbers of electrons | 4

that can be associated with the following set
of quantum numbers ?

n=3,l=1andm=-1

(A) 4 (8} 6

(€ 2 (D) 10

i
1

a9 W

W orgEEE uTd, degEed T
g S § |

becomes|  (8) clrggE@e TEH, SEEEE T

g oirar ® |

© srggEey Ted, aRgEe T aT

e ® |

0 FregEeE Ted, SREEH et

g ol ® |

I go frfider ¥
Sa-afdas R § $$ @ T I d7g 60
fr i der B a1 O wavyd fEn 7 9§
@& £ | vEN B arae M Bl

() 440 .y rguer (B) 100 5./ raver

(© 20 fpHLaver (B 40 o & reoet

ﬁﬁﬁl’ﬂ’ﬁ’B’ﬁﬁEﬁ'@rGﬁ?ﬂW%
amwﬁﬁooaﬁo_r:u?mlm%l

SuF 5uF
A P

.. K B

3.5uF L{— 4.

2uF 2UuF =

(A) 7000 AT (8) 750 diee
(©) 7500 dIT (D) 700 dlee
Wmaﬁn=3,l=1,m=—1ﬂi

waﬁﬁ%aﬁﬁﬁgmﬁﬂﬁﬁ?
(A) 4 B 8

@ 2 (d) 10




% Two simple harmonic motions of angular

frequency 100 and 1000 rad/sec have the
same displacement amplitude. The ratio of
their maximum acceleration is

(A) 1: 104 B 1: 10

© 1: 103 (b 1: 1p2

i The number of water molecules is maximum
in

(A) 18 molecules of water

{8) 1.8 g of water

(€} 18 g of water {P) 18 moles of water

The ratio of radius of gyration of a circular
disc to that of a circular ring, each of same
mass and radius, around their respective
axes is

A V3: 42 ® 1:v2
€ v2:43 © 2:1

45.

46.

47.

A person of mass 60 kg is inside a lift of mass | 4s.

940 kg and presses the button on control
panel. The lift starts moving upwards with

an acceleration 1.0 m/s2. Ifg= 10 m/s2,

the tension in the supporting cable is
{A) 8600 N (8) 11000 N

{€) 1200 N (D) 9680 N

The oxidation number of cobalt in
K[Co(C0),]is

A 1 (B —3

9 +1 (b} +3

48,

a‘rwmﬁﬂ%ﬁa‘rmaﬁ?moo
%@mfﬁ.ﬂﬁaﬁﬂﬂtraﬂq%ﬁm?ﬁﬁ,
WE R s e € ) w
SRETH @ROl BT a2

(A} 1: 1p% (B) 1z 10

© 1: 103 ) 1: 192
SIel AR B AfHa d= ¥
A 9 % 18 erogelt F

(B) 1.8 79 U=
© 18 79 gt § (D) 18 W7 U F

Ve T & R oilw R R
SAE AR U 99 At 2 ¥ ey
- I 9" F A o Bremet @

SRS
W V3T @ 1.3
@  V2:43 ® y2:1

U@ 60 kg &1 @fdT 940 kg & foree ¥
WWW%‘W@A{W?I
fore S 3 3k 1'0;.3/@235@'@“[

ﬁwﬁrmmﬁﬁ%lwﬁwﬂa?ﬂw
g=10/3° & @ foe @ Wy

arell S # g g nm

(A 8600 = (8) 1000 =ge7

© 1200 =geT (P) 9680 &=
K[Co(CO),] # @mwmE  (Co) #
SIChiEas e

A 1 B -3

@ 41 () +3

Page: 13
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s0. 14 is the length of side of a cube, the % & & ! TRE el B dwEE @
distance between the body centered atom 'g | 99 '%,- ﬁ‘Fﬂ' m -\ﬁ TH m w
and one corner atom in the cube will be Rera a0 B g4 BRI
A 3 ® 3 w3 B 43
© 2 o) 4 o 2 o 4
=8 =g st | =4
!
i
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SECTION - 11 gre - 11
MATHEMATICS KU

If complex number z = 1 + i then jts polar| st Jfy aftwysy e zZ =1+ |dq TqFT
form will be g4 ®Y BN
{A} J‘_ E i1 o7 - (Al ;‘}_ EI T of E

wz(c053T151n§ [ \2(c033-.-13m3)
B) = B oo i B = .

V2 (c054 +isin 4) V2 (cos4 4+ isin 4)
() o T I [ % (0) T .. T

V2(cos——isin— V2 cos= — isin—

( g z) ( 2 2

[D) None of these O) N =&
A and B are two events such that |s2 & A @R B = geqaW 8 3R
P(AUB) = f P(ANB) = i P@=2| P@AUB)= f PANEB) =1,
then P(A B) =7 P(A) =§ A P@EAB) =2
W 3 % 5 (a) 3 ® 5

8 8 g g
g 1 © 5 © 1 D) 5

4 12 4 12
n the expansion of (xS_ 1Y the|® = _1_7)13 b TER ¥ oeR Ue §

5 A x*
‘Onstant term is (A) 4 (B) e,
391 (8) _ |
b (© g 11 ) g !
BT, (D)o
he line X+y=6Is a normal to the &-%ﬁﬁwm x+y=6 WRdag
arabola y? = 8x atthe point y2 =8y W e BNl 2
) (4,2) (D) (2, 4)
© (4, 2) ) (2, 4)
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Sy

55.

58.

78

59.

58.

If the equation 2x* —7x+ 1=0 and | fe ARl ox2 —Tx+1=0 3R
7 ey |
ax +bhx+2=0 have a common root, 3x2+bx+2=9 QFEHTHH?L??{

then
W g=2Db="7 (B) GEl
B a=2b=-7 {8) None of these “ . 7b G
(© 7 p)a=4,b=-14 a= —-5,b=1
a= ——.,07 E ;

1 a 2
Thevalueof {1 b p2lis

1 ¢ ¢
(A) -(a-b) (b-c) (c-a)
(8) (a+b) (b+c)(c+ a)
(© (a+b) (a-b-c
) (a-b) (b-c) (c-2a)

) ~@-b) b0 (c - a
(B) (a+b){b+c)(c+a)
(© (a+b)(a‘b'c_)

®) (a‘b)(b-c)(c:'a)

The value of 57. tan"i%-i- tan..l_lz_i__ tan"*i w1 a9 &

tan~t= + tan~t = — tan~2 2 0 :

2 11 4 w T ® T

W T ® T 2 3

2 ' 3 © o o T

(© 0 o £ 4
4

The area of a triangle with adjacent sides &
and b is

W 1z ® =B
(A) —%ﬁxgl ® 5. ~ZFx# g b

, 9
© _EB| (0) %Fxgl Elﬂxg\
i the AABC @ =4 b="8and Lc—60°| papc AR @ =4 b = 8 AR B

then the value of angle Bis ,C = 60° & ,p @ A T

(A 60° (8 90°
() 60° (8  90°
{c) 45° (o 30°
() 45° o)  30°
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: The distance between two points (3, 4, 5)|s0. 2y =gl (3, 4, 5) 3R (1, 3, 3)F

and (-1, 3,-3)is T & Tﬁ &
(A) 6 unit (8) 7 unit (A) 6 W-&F (B) 7 575[?‘{
(€) 8 unit (D) 8 unit © g zFrE ®) 9 HE
The g™ term in the expansion of |61 3, 9 ¥ WR ¥ wadt T T
9 (Z N 55)
(ﬁ_f_ is
{A) None of these (8) 168 W g &) .%6_
% x
© 168 x (o) 168 © 168 x o) 165
n; %
Evaluate 1M vatx—+a 5 lim va+x — /a® 99 8
_E 0 N x—=0 X
{A) 2v/a () 1 (A) 3/a (B) 1
2‘\. a 2_\!5
(€} None of these © | 1_ © P = (o) 1
2%
If y = sec(tan~1x), then g% lsequalto  |™ afe sec(tan1x), Si FT
) 2 ® 1 A BT
Vi-aZ 1 4 32 (A) x* (B) 1
o7 — o 1 -
g X (D) 1 1=z =
1+x2 Al at (© x (D) 1
V1+x? V1+x?
lim 6.  lim
5 - . Eal g
he value of %~ 5[2 (secx —tanx)is Rt (sec x — tanx) &1 99
) oo (8) 0 (A) oo (8) o
g1 (@1 @ - (D) 1
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6 3 1f

_ The value of the co-factor of the element 6 _ o] ol <o
& 3 1 arRfE 2 5 4‘ # < 6 £
inthe determinant {2 5 4lis g8 0 7
8 0 7 TEETS B A
(a) 35 (8) 21 (A) 35 (8) 24
{c) -35 (p) -21 (€ -35 (D) -21
. The acute .angie between the two planes |85 a1 wHdar 2x—y+z==6 3R
2x—v+z=6and x +y+2z=3Is
J o x+y+22=3$€'ﬂ7“f‘ﬁ‘“%
(A} 45° (8) 30° .
(A) 45° (B) 30°
© 60° (o) 75°
@ 60° (o) 75°
. How many normals can be drawn from a & freft Rg & WA W e SIBCES]
point to the parabola ? @ o1 god € ?
(A) 2 (8 1 (A 2 (B) 1
€} 3 (D) 4 ) 3 {D) 4
o S . ; G6. 7%, . . 3 _ (L
¥ fx)=x"—3 then the value of e flx)=x " ar Flx) + f(x)
1 = Y
f(x) 4 f 1 HT "9 8
(x) (&) HS TE (8 —
A | <
{A) None of these (8 -1 © 1 ® o
©1 (D)0
If 2tan26 = sec? 6, then the general value |6 IfE  2tan?6 = sec?®: ar o @I
of Bis =S A ®
(A) None of these (8 o _ T ) Hrg TE ® o T
6 6
B pvei® M op. = © goprst ™ p=2nmis
i‘a—mr:l:4 G—Zn‘;‘ris BEg =%
 The differential  coefficient  of 7. v =log(log X x P ANE JAHA
v = log(log x) withrespectto x is i &
() xlogx ® (xlogx)™? #  xlogx ®  (xlogx)™*
o = (o) logx (9 X oy logx
log x X logx x
Page: 18
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\
. T

i€ centre of the sphere

#+3y%4 322 62— 12y +6z+2=0is
(0,2,-1) () (1,2, 1)
(-1,2,-1) (D) (1,2,-1)

equation of circle is
+y? + 2gx +2fy+c=0, then its
ius will be
None of these (8) Vfgz +f2 4 2

Jei+fz_¢ (D Vet + 2 f¢

32 +3y%+ 322 — bx—12y + 67120 b

s & e §
(A (o, 2, -1) (B) (1, 2, 1)
@ (-1, 2, 1) ®) (1, 2, -1)

2AE gd @m e

2 +y*+2gx +2y+c=0 &, @
sl Brear erfy

(A B 78 {BJ\;gz +f2 1 c2
lclvigz +f2 _¢ {Dlvfgz +f2 1 ¢

€quation of a parabola having focus (3,73 wRaerg @7 ., Ryt aify (3, 0) 3R

nd directrix x +3 = Qis Fraar &1 a9 x+3=0 %
x* =12y B) y2=_124 A x2=12y B y2=_192,
¥ =12% ) x2=_12y @ y2=12y @ x2=_19y
8% term of the series 1, V3,3, e | 74 Sy T V3 8 ... BT 86 4= g
@ 20v3 B 29y3
20v3 B 293 -
Q9 - 293 (D) B
173 {D) None of these e
surves y = x? and xy =k cut at TGP g .2 ¥R =k & @R
angles, if B T R/ B Gy
E =1 (B) gk? =1 A)  4k2 =1 (B  gk2=1
E=1 (0) 8kz =1 © 2r2—1 P)  gk2 =1
istance between the parallel lines |7s. AR Vel y=2y+4 3N
r+4and 6x=3y+5is )
e & _ 6x=3y+5 % 97 # g&t &
W5 17V5/15 -
A 3,5 B 17v5/15
'/\:‘g {Dn‘ 1
© 17473 (0) 1
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7. The number of zeroes at the end of [ 70 is | ™ |70 F o W g T @Y WA §
{a) 70 (B) 16 (A) 70 (B) 16
©7 D)5 © 7 (D) 5
78. If w is a complex cube root of unity, then the | 78. e w 3P B P LELCH B oar
value of the determinant URRG &1 A '
1 W w?
A=|w W2 1|is 1w w?
w2 1 W A=lw w2 1
() W2 (8) 0 w2 1w
A w2 (8 o
(1 (D) w
€ 1 (D) w
mgf oy =[x+Vi+x2]  then |7 afe y=[x+vizaZ]” @
(1 -+ xE)YZ + X¥1 is E'qual to (1 + xz)yz + X¥1 B AT %
(A) m?y? (8) m?y @ mZy? B  m?y
© my? (D) None of these © my? o) 5 &
20. The value of the series 8o, ol
AT Ry e R +C,5 08 Be +¥C4 70 ER 1. oW
(a) 215_1 (B) 215 E’T{ﬂ-
A i - B 15
© —21s ©) 215 11 w21 & 2
(© 215 o) 215+1
81. nf2 81. 72
The value of _[iogtanxctxis J logtanx dx @I 1 g
0 0
w T & T w T ® T
e — log 2 = =
4 g8 08 1 3 log 2
9 T (0) 0 @ T ® o
2 F
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ivalue of "EEX-Sinb,‘.' dx is
eax
vy (asinbx —bcosbx) + ¢
None of these
ea.x
e (asinbx +bcosbx) + ¢
EEX
———— {acosbx+ bsinbx)+ ¢

¥ and degree of the differential

2 2y1/4
tion i’i:{y_:_ GX) } are
dx? ' x

and 2 (8) 1and 4
and 4 (D) 1and 2

solution of the differential equation
xg)%+ 1+ y2=0,is

x4+ tan"ly =tan~! C
mx— tan"ly = tan~1 C
mly— tan"lxy = tan~i ¢

ine of these

ink of the matrix A= is

1234
!L4321_]’

(B) 2
(D)1

(x-32 (+2)
35 is

ci of the ellipse

+2+/5,-2 ) (B) None of these

—2) ©) (342+452)

82. feat-sfnbxd,\' BT A §

(A) il )
Pi (asinbx ~bceoshx) + ¢

B)  Fg T

(©) e** )
Z o (asinbx +bcosbx) + ¢

(D) g o
mz—(acosbxwhsmbx)-i-c
8. 3dehel THIHNUT
2174
ﬁ;z{y+ E_:*;)z} 3 DI AR =T
dx? g
g
A) 4 3R 2 ®) 13R 4
€ 2 3R 4 B 1 3R 2

8. ATEH BT
A
I+ x) Z+1+y?=0 P &T §

) tan™'x + tan~ly =tan~i C
B tan™*x — tan~ly = tan~1 ¢
© tan'y— tan"ix = tan~I ¢

(o) g T
8. [12347
]L«s, 321]
(A) 3 (8) 2
(© 4 (o) 1
©oddgm @ 6427 o i
36 is
g
W (3+2v5,-2)
B) Prg T

7

@ G-2) ® (31557)

i
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a7.

The parametric co-ordinates of the
2 2 .
hyperbola o 1is

(A) (asecB,btanB) 8 (acos8, bsin 8)
(© (—asecH btang)
@) (asecB,—btand)

3 -5
't A= _ I, then the value of
B Ll
A% —5Ais
(A) T14 o7 {(8) None of these
(0] 14}
9 r o ® o o]
01 _! o 0_!
/2 cosx
e
The value of I ————dris
5 eSﬁI _I_eCQS.I
(A T (8 T
4 4
¢ T (o) T
2 2
54 term of an A.P.is (-61) and 4t: term

is 64, then the value of 2374 term will be

¥ gforRaerd ¥ L_4 ¥ vk
a2 2
e a1 9 &

(A (asecB btan8)
(8 (acos8,bsin®)
©  (—asec8,btang)
) (asecB, —btang)

3 -5

afy A:[ : LA A2 _5a @
LGS
® 14 o“i B) B 7
(© 1 47 (D) o 0!
[0 1I [0 0_!
/2 R
— dx®T A B
5 e i3 +ECOSI
w T ® T
4 4
@ _T ® T
2 2

s =R ol B0 s4df Ug (61) Sl
441 9 64 B, A SUST 2347 9= BN

g A 5 33

W 35 ® 33 & 52_ o =

. 3 33 33

© 33 ) 33 ( __'2_ (D) T
2 4




‘or any three vectors 3, b ¢ the value of
7

A) [gg(—:'] () 0
P oEbd ™ EEQ

he Total No. of ways in which 30 mangoes
an be distributed among 5 persons is

81 7 =¥ 3
Giki i g,,b, : & ferg
E-Bb-¢2-3] FT A&
(4) {35' a (8) o
(€) = T (o)
-2[a b c] 1abc

2 30 AW B 5 JRRA ¥ Pa feaw
Wil I greT o gHar ¥ 2

g s* B =g, () g3 (8)  =C,
3 34(:4 (D} 30° () 34(-_‘4 (D) 30°
n n X
he curve_ o e 2 touches the line | fg fig w ¥ Z + = 2 P
gl ' pn a b
. -
<+ = = 2 at the point — =2 B B2
h an bn
) 1 1) (8) (a, b) ®w 1 1) ®) (@, b)
b ? a/ \b : 31
I(1,1) (D) (b, a) © (1, 1 ®) (b, a)
1e value of {]}q] + [jik] is * [iki] + {}'g}'{] BT AT B
i (8) [ijk] (A) j ) Tijk] |
0 (D) -1 © o (D) — E
% and B are two square matrices. Then the |95 gfy A iR B quf egE B, qr (AB)T
lue of
BT HT A ¥
(A)  _ATRT () AB
—ATBT (8) AB
(€ BTAT ) A=0,B=0
BTAT (P)A=0,B=0
Page: 23 560132



9. The length of the latus rectum of the ellipse

=2 .

S+

(A) 98/6 (8) 98/12
(€} 72/14 D}y 72/7

97. The lines

are coplanar, if
A k=1,-1 (B) k=3,-3
© k=0,-3 D) k=0,-1

%8 If °C, =C_.then thevalueof ris
(A) 3 (B) 5
€} 4 (D) 2

% Bl b 4 f e

c= 3f—}—2ﬁ, then the value of [5’ E; a

is
(A) 5 (8) 4
(€) -5 (D) -4

100. raZx\ |
If v = : * th (—)I qual t
/4 x + e*then e sequal to

B (1+e9)7 B _e*(14e¥)2

. ﬁ+ﬁ:-1 & e @
36 4%
TS E
(A} 98/6 (B) 98/12
© 72/14 0) 72/7
a7, QETQ.‘F’
ol T PO . AR
1 1 =k
1_ vy _ 7S mwaeh ol afe
k i 1
(A k =1 —1 (B) k = 3, -
@ k=0 -3 © k=0 -
| SO o G -
(A 3 (B) 5
© 4 (D) 2

T AR F=3i-gi-ak p=iiZj+k R

c=3i-j-2k. & Eb ] @ A8
(A) 5
(©

(8) 4

-5 (D) —4

WA g x4 et (‘iz_“ &1 A
\dy2
g

(A) 14 e*)2
© —e*-(1+e%)3 ( )
(B) —e% -2
() ex (1+e%)
€ ¥ (1+e%)73
(D) ¥
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